FLERFEFROYS

FREI0FE4R17H
I B2 R IR 153 4 JE AR AL R
FRIF4AIBRRTARSINTIS, B RERDETELGEFHEREZINEL. AARDESY—BERICIRYELDT-,

FHRFEBFODEFILUTDEEYTHS,

(D) ER29FE 128 DELSBRIES (CI—BIER) (£, BBA#ERLTLS,

()1ADITEEERRIIFAZTEST-,

BBENEEDSE 1 AOXRE/NFGEERGREIFIERAZ TEST,
2ADHERFGTEH R (X, 8h AEHETHERAZE TE>T=,

(4)2B DHEEDWIERORE X, fFIERAZ LE T,

[Ty =]

(B)ERIE. FHHRRAEER, AUMRABRELICLFMERIZH D,

(M =SBREH(CI—BER) (ERE224E=100)

120.0
A A
\,’/\"
110.0 -
— —HEH 115.3
H-3MARABETY 1133
105.0° 1 B0 B %5 BETY 1135
100.0
1‘2‘3‘4‘5‘6‘7‘8‘9‘10‘11‘12‘1‘2‘3‘4‘5‘6‘7‘8‘9‘10‘11‘12‘1‘2‘3‘4‘5‘6‘7‘8‘9‘10‘11‘12‘1‘2‘3‘4‘5‘6‘7‘8‘9‘10‘11‘12
H26 \ H27 \ H28 \ H29
PR FH R TR B IR S A B e 4
(2)%£FE T R (R TEEEA RN (SR
120 = N 200 /T — 1N  ———eeaa. Ao e L B
(R , FH224-100) 135 1 CRAREER. FiR224=100) e
2%+ me=——- [
......... 7°5 2 F 90 T. % /
115
110
105
95
100 85
75
65
90 55
H30.1H 45
94.7 35 |
80 T T I B B 25 e B e
26 27 28 29 30 26 27 28 29 30
s s (4F)
SRAEFHIRT I IR TR VR It RS T3 UF)
(BT H K %)
B 3 2949 H 104 11H 12H 304F1 A
gL L3EAPERR SR A 3.4 4.8 A 0.8 2.6 A 6.1
4@ B 2.4 3.2 1.5 4.5 A 11.8
S A 3.3 3.9 0.0 2.9 A 10.4
A B T3 5.2 3.1 1.7 5.6 A 15
R S A 090 7.9 A 6.4 A 25 6.1
TSRk T3 A 6.4 2.3 2.1 5.2 A 19.2
2R T3 2.9 A 5.4 0.2 3.7 A 1.6
LT3 A 177 26.4] A 10.3 1.1 17.1
TIAT B T3 6.1 3.1 A 1.3 2.7 A 5. 1




RENEHE

(BT Fe: %)

29410 H 11H 12 H 3041 H 24
KA 725 R RE (2)5) A 3.5 A 0.4 0.9 A 1.7 —
BT E 5 (B H B AR A 6.3 A 6.3 A 8.6 A 6.5 A 7.2
B H B IR B A 3.3 A 3.0 A 0.4 4.0 11.4
EEERSE) A 5.2 A 52 A 5.6 A 2.3 A 0.3
HraxEEs T 13.8 24.8 9.5 A 14.1 A 5.3
(4) Y CHEEYMIEE . B )
294F10H 11H 12 H 304E1H 2H
AT 100. 1 100. 5 100. 8 100. 8 100. 7
Al A b (%) 0.0 0.3 0.3 0.0 A 0.1
BI4EELA B (%) 0.0 0.4 1.2 1.1 1.0
%) ABNFEERFEADHE (%) FERFEROBHE (EEI)
18 (BEE&R—/IN—ZLLE>) 70
16 (AR ) 1 HEAE ) (RITAE 1 H 0 8)
14 — R 304E1H ALT% 60 )
. ) ST (BRIR) 304E2 H £ T
2Fw  eee-- 4 [ 304E2H  0.5% GEHE L
" 4 [ 304F G fE) o EEHTE 3042 £ C
40
8
6 30
4 20
2
0 10
A2 0
A/
AG A 10
A3 | A 20
A0}
AL L A 30
A 14 A 40
26 27 28 29 30 26 27 28 29 30
() (40 AR B B2 A 2 . (— 1) AN By ity 2o £
(7) FREERIFHOBE (KER) (%) SEBEMIEOMEUE (B
em—O— 5 304E2H 1.0% S N
1,400 6.0 ____. SRR B 200 0.7 (RiTAER A He )
721 FoRH (RIED J O RLF— 2 RS 30421 0.2%
1,200 F 1 5.0 1
) - 761
1,000 | H758 m o melHL 1.0
788 |1 o | 28 dILIL THIH 3.0
800 e TH Lt T THIT T i
1 8 T H T 2.0
600 |
1.0
400 |
0.0
200 ¢ A 1.0
0 A20
26 27 28 29 30 26 27 28 29 30
kLA DI TR FoR  EEAREE HEES T GF) A T e (4F)



(5)ER

294E10 H 114 124 304E1H 2
BHLRAE 2R (F5) 2.62 2.75 2.87 2.60 2.80
ANRAEH (F) 1.82 1.84 1.92 1.90 1.92
ERRBRZ AT EANE K 3.4 2.5 3.3 5.9 4.3
SERRER(ET NHEFHE) (%) 1.8 1.8 1.8 — —
LA 6 5 HaKB GRA e 3t 30 A LU L) 3K 3.7 A 39 2.6 — —
K FEI B R FE] (i e - 30 ALL_EHEEPT) 3K 0.9 1.7 0.9 — —
FrES G5 R (RUESE 30 A DL 3T X 6.4 12.6 4.5 — —

XUTATAER A b (%)

— M- S—RAIERA - BIRBEHRD

3(3? HIRAEEELEFIRRAMEEOH %) seEg (HEE)
. - 40
280 (HIREEE) (RTE LA HLHERCR)
L LR A SR8 1) 30
2.60 hS BEIRAN =R AIRA ()
2.40 r 20
2.00 10
1.80 0
1.60
1.40 A 10
1.20
100 A20r T CEES TARY)
0.80 ‘ BERAGREEIR) A30 A7 5 R (— )
060 T #msp Aftrsr(eim) A 10
0.40 2627282930 26 27 28 29 30
() ()
JEA S8 T — TSR Iz .55 @R [ 5 B~ R 7 A |
ERRBRSMERAAOHR o e
(%) (BB 18) ) 55 TELREEDHS
40 12000 A [E D Zr ZET A
50 L Iz Bl 387 /U HE G
== == FiE R A L OEEF) 1 11000 IEBOE 21> 2.5%
4.5 r ;
~~~~~~~~~ WHEC2IELI0-12H D> 2.2%
20 [ 4 —— ZHRHEFAR R ] 10000 O 0
1 a0 | 29510 12H B> 1.8%
¥ 1 9000 '
Wk v
0 IP=;IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII'IIIII 8000 35
A \
7000 30
A 20 r 6000 2.5
5000 2.0
A40 4000 15 I
25 26 27 28 29 30 26 21 28 29 30
7 B 55 4l Jeg T o5 B~ R 7 X | (48) BA T B A (FF)

) SRR ol B U ] U S R - — IR




